i-S-mm 7

Porcentajes de numeros (nimero faltante)

Nombre:

x20% =154
x 10% =4.3
x 40% = 30

x 40% = 22.8
x70% = 26.6
x 50% = 41

x 40% = 14.8
x90% =43.2
x 10% = 4.9
x 10% =4

Fecha:

x 30% = 15.9
x 30% = 28.8
x 70% = 42.7
x 50% = 49

x 70% = 30.1
x 50% = 16.5
x 40% = 18.8
x 20% = 15.8
x 30% = 19.2
x 30% = 14.4
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Puntuacion:
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fi-S-mm 7

Porcentajes de numeros (nimero faltante)

Nombre:

77 x20% =15.4

43 x 10% = 4.3

75 x 40% = 30

57 x40% = 22.8

38 x 70% = 26.6

82 x 50% = 41

37 x40% = 14.8

48 X 90% = 43.2

49 x 10% = 4.9

40 x 10% = 4

Fecha:

53 x30% = 15.9

96 x 30% = 28.8

61 x70% = 42.7

98 x 50% = 49

43 x70% = 30.1

33 x50% = 16.5

47 x 40% = 18.8

79 x20% = 15.8

64 x30% = 19.2

48 x 30% = 14.4
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Puntuacion:
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